Bol. Soc. Paran. Mat. (3s.) **v. 26** 1-2 (2008): 19–28. ©SPM –ISNN-00378712

On the asymptotic behavior for a nonlocal diffusion equation with an absorption term on a lattice

Diabate Nabongo and Théodore K. Boni

ABSTRACT: In this paper, we consider the following initial value problem

$$\begin{cases} U'_{i}(t) = \sum_{j \in B} J_{i-j}(U_{j}(t) - U_{i}(t)) - U_{i}^{p}(t), & t \ge 0, \quad i \in B, \\ U_{i}(0) = \varphi_{i} > 0, & i \in B, \end{cases}$$

where B is a bounded subset of \mathbb{Z}^d , p > 1, $J_h = (J_i)_{i \in B}$ is a kernel which is nonnegative, symmetric, bounded and $\sum_{j \in \mathbb{Z}^d} J_j = 1$. We describe the asymptotic behavior of the solution of the above problem.

Key Words: Nonlocal diffusion, asymptotic behavior.

Contents

| 1 | Introduction | 19 |
|---|--------------------------------|----|
| 2 | Local existence and uniqueness | 20 |

3 Asymptotic behavior of solutions

1. Introduction

Consider the following initial value problem

$$U'_{i}(t) = \sum_{j \in B} J_{i-j}(U_{j}(t) - U_{i}(t)) - U_{i}^{p}(t), \quad t \ge 0, \quad i \in B,$$
(1)

$$U_i(0) = \varphi_i > 0, \quad i \in B, \tag{2}$$

where B is a bounded subset of \mathbb{Z}^d , p > 1, $J_h = (J_i)_{i \in B}$ is a kernel which is nonnegative, symmetric, bounded and $\sum_{j \in \mathbb{Z}^d} J_j = 1$. Recently, nonlocal diffusion problems have been the subject of investigations of many authors (see [1], [2], [4]– [7], [13]–[18], [21], [22], [24], [31], [32] and the references cited therein). Nonlocal evolution equations of the form

$$u_t = \int_{\mathbb{R}^N} J(x-y)(u(y,t) - u(x,t))dy$$

and variations of it have been used by many authors to model diffusion processes (see [4]–[6], [13], [21]) and neuronal activity (see [19], [23], [28], [29]). Let us notice that certain nonlocal problems are described by discrete equations (see [5], [13])

 $\mathbf{21}$

²⁰⁰⁰ Mathematics Subject Classification: 35B40, 45A07, 35G10.

and it is also important to have informations about the asymptotic behavior of continuous solutions if we have a continuous nonlocal problems or discrete solutions if the problems are represented by discrete equations. The solution u(x,t) can be interpreted as the density of a single population at the point x at time t and J(x-y) as the probability distribution of jumping from location y to location x. Then the convolution $(J * u)(x,t) = \int_{\mathbb{R}^N} J(y-x)u(y,t)dy$ is the rate at which individuals are arriving to position x from all other places and $-u(x,t) = -\int_{\mathbb{R}^N} J(y-x)u(x,t)dy$ is the rate at which they are leaving location x to travel to all other sites (see [21]). For the discrete case

$$U'_{i}(t) = (J * U)_{i}(t) - U_{i}(t), \quad t \ge 0, \quad i \in \mathbb{Z}^{d},$$

where $(J * U)_i = \sum_{j \in \mathbb{Z}^d} J_{i-j}U_j$, the component of the solution $U_h(t) = (U_j(t))_{j \in B}$ in i, namely $U_i(t)$ can be interpreted as the density of a single population at the point i at time t and J_{i-i} can be interpreted as the probability distribution of jumping from location i to location j. Then the convolution $(J * U)_i(t)$ is the rate at which individuals are arriving to position i from all other places and $-U_i(t)$ is the rate at which they are leaving location i to travel to all other sites (see [21]). In this paper, we are interested in the asymptotic behavior of the solution of (1)-(2). For local diffusion problems, the asymptotic behavior of solutions has been the subject of investigations of several authors (see [3], [9]-[12], [26], [27] and the references cited therein). For nonlocal problems, in the continuous case, the authors in [14] and [31] have studied the asymptotic behavior of solutions. For our problem, in the case where there is no absorption term, the authors in [25] have studied the asymptotic behavior of the solution when $B = \mathbb{Z}^d$. Our paper is written in the following manner. In the next section, we prove the local existence and the uniqueness of the solution. Finally in the last section, we show that the solution U_h of (1)–(2) tends to zero as t approaches infinity and describe its asymptotic behavior as $t \to +\infty$.

2. Local existence and uniqueness

In this section, we shall establish the existence and the uniqueness of the solution $U_h(t)$ of (1)–(2) on (0, T) for small T.

Let $t_0 > 0$ be fixed and define the function space $Y_{t_0} = \{U_h; U_h \in C([0, t_0], \mathbb{Z}^d)\}$ equipped with the norm defined by $\|U_h\|_{Y_{t_0}} = \max_{0 \le t \le t_0} \|U_h\|_{\infty}$ for $U_h \in Y_{t_0}$ where $\|U_h(t)\|_{\infty} = \sup_{i \in B} |U_i(t)|$. It is easy to see that Y_{t_0} is a Banach space. Introduce the set $X_{t_0} = \{U_h; U_h \in Y_{t_0}, \|u\|_{Y_{t_0}} \le b_0\}$, where $b_0 = 2\|\varphi_h\|_{\infty} + 1$. We observe that X_{t_0} is a nonempty bounded closed convex subset of Y_{t_0} . Define the map R as follows

$$R: X_{t_0} \longrightarrow X_{t_0},$$
$$R(V_h)_i = \varphi_i + \int_0^t (\sum_{j \in B} J_{i-j}(V_j(s) - V_i(s))) ds - \int_0^t V_i^p(s) ds, \quad i \in B.$$

Theorem 2.1. Assume that $\varphi_h \in Y_{t_0}$. Then R maps X_{t_0} into X_{t_0} and R is strictly contractive if t_0 is appropriately small relative to $\|\varphi_h\|_{\infty}$.

Proof. A straightforward computation reveals that

$$|R(V_h)_i(t) - \varphi_i| \le 2 \|V_h\|_{Y_{t_0}} t + \|V_h\|_{Y_{t_0}}^p t,$$

which implies that $||R(V_h)||_{Y_{t_0}} \le ||\varphi_h||_{\infty} + 2t_0 + b_0^p t_0$. If

$$t_0 \le \frac{b_0 - \|\varphi_h\|_{\infty}}{2b_0 + b_0^p},\tag{3}$$

then

$$||R(V_h)||_{Y_{t_0}} \le b_0.$$

Therefore if (3) holds, then R maps X_{t_0} into X_{t_0} . Now, we are going to prove that the map R is strictly contractive. Let $V_h, Z_h \in X_{t_0}$. Setting $\alpha_h = V_h - Z_h$, we discover that

$$\begin{aligned} |(R(V_h)_i(t) - R(Z_h)_i(t)| &\leq |\int_0^t (\sum_{j \in B} J_{i-j}(\alpha_j(s) - \alpha_i(s)))ds| \\ &+ |\int_0^t (V_i^p(s) - Z_i^p(s))ds|. \end{aligned}$$

Use Taylor's expansion to obtain

$$|(R(V_h)_i(t) - R(Z_h)_i(t)| \le 2 \|\alpha_h\|_{Y_{t_0}} t + t \|V_h - Z_h\|_{Y_{t_0}} p \|\beta_h\|_{Y_{t_0}}^{p-1},$$

where β_i is an intermediate value between V_i and Z_i . We deduce that

$$||R(V_h) - R(Z_h)||_{Y_{t_0}} \le 2||\alpha_h||_{Y_{t_0}} t_0 + t_0||V_h - Z_h||_{Y_{t_0}} p||\beta_h||_{Y_{t_0}}^{p-1},$$

which implies that

$$||R(V_h) - R(Z_h)||_{Y_{t_0}} \le (2t_0 + t_0 p b_0^{p-1}) ||V_h - Z_h||_{Y_{t_0}}.$$

If $t_0 \leq \frac{1}{4+2pb_0^{p-1}}$, then $||R(V_h) - R(Z_h)||_{Y_{t_0}} \leq \frac{1}{2}||V_h - Z_h||_{Y_{t_0}}$. Hence, we see that $R(V_h)$ is a strict contraction in Y_{t_0} and the proof is complete.

Hence, we see that $R(V_h)$ is a strict contraction in Y_{t_0} and the proof is complete. \Box

It follows from the contraction mapping principle that for appropriately chosen $t_0 \in (0, 1)$, R has a unique fixed point $U_h(t) \in Y_{t_0}$ which is a solution of (1)-(2). To extend the solution to $[0, \infty)$, we may take as initial data $U_h(t_0) \in \mathbb{Z}^d$ and obtain a solution in $[0, 2t_0]$. Iterating this procedure, we get a solution defined in $[0, \infty)$.

3. Asymptotic behavior of solutions

In this section, we show that the solution $U_h(t)$ of (1)-(2) tends to zero as t approaches infinity. We also give its asymptotic behavior as $t \to \infty$.

Before starting, let us prove the following lemma which is a version of the maximum principle for discrete nonlocal problems.

Lemma 3.1. Let $b_h \in C^0([0,\infty), \mathbb{Z}^d)$ and let $U_h \in C^1([0,\infty), \mathbb{Z}^d)$ satisfying the following inequalities

$$U'_{i}(t) - \sum_{j \in B} J_{i-j}(U_{j}(t) - U_{i}(t)) + b_{i}(t)U_{i}(t) \ge 0, \quad i \in B, \qquad t > 0,$$

$$U_i(0) \ge 0, \quad i \in B.$$

Then, we have $U_i(t) \ge 0$, $i \in B, t > 0$.

Proof. Let $T_0 < \infty$ and let λ be such that $b_i(t) - \lambda > 0$ for $t \in [0, T_0]$, $i \in B$. Introduce the vector $Z_h(t) = e^{\lambda t} U_h(t)$ and let $m = \min_{t \in [0, T_0]} ||Z_h(t)||_{\inf}$ where $||Z_h(t)||_{\inf} = \min_{0 \le i \le I} Z_i(t)$. Then, there exists $t_0 \in [0, T_0]$ such that $m = Z_{i_0}(t_0)$ for a certain $i_0 \in B$. We get $Z_{i_0}(t_0) \le Z_{i_0}(t)$ for $t \le t_0$ and $Z_{i_0}(t_0) \le Z_j(t_0)$ for $j \in B$, which implies that

$$Z_{i_0}'(t_0) = \lim_{k \to 0} \frac{Z_{i_0}(t_0) - Z_{i_0}(t_0 - k)}{k} \le 0,$$
(4)

and

$$\sum_{j \in B} J_{i_0 - j}(Z_j(t_0) - Z_{i_0}(t_0)) \ge 0.$$
(5)

Using the first inequality of the lemma, it is not hard to see that

$$Z_{i_0}'(t_0) - \sum_{j \in B} J_{i_0 - j}(Z_j(t_0) - Z_{i_0}(t_0)) + (b_{i_0}(t_0) - \lambda)Z_{i_0}(t_0) \ge 0.$$
(6)

It follows from (4)–(6) that $(b_{i_0}(t_0) - \lambda)Z_{i_0}(t_0) \ge 0$, which implies that $Z_{i_0}(t_0) \ge 0$ because $b_{i_0}(t_0) - \lambda > 0$. We deduce that $U_h(t) \ge 0$ for $t \in [0, T_0]$, which leads us to the result. \Box

Another version of the maximum principle for discrete nonlocal problems is the following comparison lemma.

Lemma 3.2. Let $U_h, V_h \in C^1([0, \infty), \mathbb{Z}^d)$ such that

$$U_{i}^{'}(t) - \sum_{j \in B} J_{i-j}(U_{j}(t) - U_{i}(t)) + U_{i}^{p}(t)$$

> $V_{i}^{'}(t) - \sum_{j \in B} J_{i-j}(V_{j}(t) - V_{i}(t)) + V_{i}^{p}(t), \quad i \in B, \quad t > 0,$

 $U_i(0) > V_i(0), \quad i \in B.$

Then, we have $U_i(t) > V_i(t)$, $i \in B, t > 0$.

Proof. Let $W_h(t) = U_h(t) - V_h(t)$ and let t_0 be the first $t \in (0, \infty)$ such that $W_h(t) > 0$ for $t \in [0, t_0)$ but $W_{i_0}(t_0) = 0$ for a certain $i_0 \in B$. We have

$$\sum_{j \in B} J_{i_0 - j}(W_j(t_0) - W_{i_0}(t_0)) = \sum_{j \in B} J_{i_0 - j}W_j(t_0) > 0$$

because $W_j(t_0) \ge 0$ for $j \in B$ and $W_h(t_0) \ne 0$. Obviously

$$W_{i_0}^{'}(t_0) = \lim_{k \to 0} \frac{W_{i_0}(t_0) - W_{i_0}(t_0 - k)}{k} \le 0.$$

It follows that

$$W_{i_0}^{'}(t_0) - \sum_{j \in B} J_{i_0-j}(W_j(t_0) - W_{i_0}(t_0)) + U_{i_0}^p(t_0) - V_{i_0}^p(t_0) \le 0.$$

But, this contradicts the first strict differential inequality of the lemma and the proof is complete. \Box

Remark 3.1. If we modify slightly the proof of Lemma 3.2, it is not hard to see that $U_h(t) > 0$ for $t \ge 0$ where $U_h(t)$ is the solution of (1)-(2).

Introduce the function

$$\mu(x) = (C_0 + x)^p - \lambda(C_0 + x),$$

where $C_0 = (\frac{1}{p-1})^{\frac{1}{p-1}}$ and $\lambda = \frac{1}{p-1}$, which is crucial for the asymptotic behavior of solutions. We have $\mu(0) = 0$ and $\mu'(0) = 1$. We deduce that $\mu(\varepsilon) > 0$ and $\mu(-\varepsilon) < 0$ for ε small enough.

The lemma below shows that the solution U_h of the problem (1)-(2) tends to zero as t approaches infinity.

Lemma 3.3. Let $U_h(t)$ be the solution of (1)–(2). Then, we have

$$\lim_{t \to \infty} U_i(t) = 0, \quad i \in B.$$

Proof. Since $\varphi_i \geq 0$, $i \in B$, Lemma 3.1 implies that $U_i(t) \geq 0$, $i \in B$, t > 0. Introduce the vector $Z_h(t)$ defined as follows $Z_i(t) = C_0 t^{-\lambda}$, $i \in B$, $t \geq 1$, where $\lambda = \frac{1}{p-1}$ and $C_0 = (\frac{1}{p-1})^{\frac{1}{p-1}}$. A straightforward computation reveals that

$$Z'_{i}(t) - \sum_{j \in B} J_{i-j}(Z_{j}(t) - Z_{i}(t)) + Z_{i}^{p}(t) = 0, \quad t \ge 1,$$

$$Z_i(1) = C_0, \quad i \in B.$$

Let k > 1 be so large that

$$kZ_i(1) = kC_0 > U_i(1), \quad i \in B.$$

Obviously $kZ_i^p < (kZ_i)^p$ which implies that

$$kZ_{i}^{'} - \sum_{j \in B} J_{i-j}(kZ_{j}(t) - kZ_{i}(t)) + (kZ_{i})^{p} > 0, \quad i \in B, \quad t \ge 1,$$

$$kZ_i(1) = kC_0 > U_i(1), \quad i \in B.$$

Lemma 3.2 implies that

$$0 \le U_i(t) < kZ_i(t), \quad i \in B, \quad t \ge 1.$$

Hence, we have

$$0 \le U_i(t) \le kC_0 t^{-\lambda}, \quad i \in B, \quad t \ge 1.$$

We deduce that

$$\lim_{t \to +\infty} U_i(t) = 0, \quad i \in B,$$

and the proof is complete. \Box

Now, let us give the asymptotic behavior of the solution U_h . We have the following result.

Theorem 3.1. Let $U_h(t)$ be the solution of (1)-(2). Then, we have

$$U_i(t) = C_0 t^{-\lambda} (1 + o(1)), \quad i \in B \quad as \quad t \to \infty,$$

where $C_0 = (\frac{1}{p-1})^{\frac{1}{p-1}}$ and $\lambda = \frac{1}{p-1}$.

The proof of the above theorem is based on the following lemmas.

Lemma 3.4. Let $U_h(t)$ be the solution of (1)-(2). Then, for any $\varepsilon > 0$ small enough, there exist two times $\tau \ge T \ge 1$ such that

$$U_i(t+\tau) \le (C_0+\varepsilon)(t+T)^{-\lambda} + (t+T)^{-\lambda-1}, \quad i \in B, \quad t \ge 0.$$

Proof. Introduce the vector W_h defined as follows

$$W_i(t) = (C_0 + \varepsilon)t^{-\lambda} + t^{-\lambda - 1}, \quad i \in B, \quad t \ge 1$$

A direct calculation yields

$$W_{i}^{'}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W_{i}^{p}(t)$$

= $t^{-\lambda - 1} \left(-\lambda(C_{0} + \varepsilon) - (\lambda + 1)t^{-1} \right) + t^{-\lambda p}(C_{0} + \varepsilon + t^{-1})^{p}$

Due to the fact that $p\lambda = \lambda + 1$, we arrive at

$$W'_{i}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W_{i}^{p}(t)$$

= $t^{-\lambda - 1} \left(-\lambda(C_{0} + \varepsilon) - (\lambda + 1)t^{-1} + (C_{0} + \varepsilon + t^{-1})^{p} \right)$

Applying Taylor's expansion, we get $(C_0 + \varepsilon + t^{-1})^p = (C_0 + \varepsilon)^p + M(t)t^{-1}$, where M(t) is a bounded function for $t \ge 1$. Hence, for $t \ge 1$, we find that

$$W'_{i}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W^{p}_{i}(t)$$

= $t^{-\lambda - 1}(\mu(\varepsilon) - (\lambda + 1)t^{-1} + M(t)t^{-1}).$

Since $\varepsilon > 0$, we discover that $\mu(\varepsilon) > 0$. Therefore, there exists a positive time $T \ge 1$ such that

$$W'_{i}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W^{p}_{i}(t) > 0, \quad i \in B, \quad t \ge T.$$

Since $U_i(t)$ goes to zero as t approaches infinity for $i \in B$, owing to Lemma 3.3, there exists $\tau \geq T$ such that

$$U_i(\tau) < W_i(T), \quad i \in B.$$

Setting $Z_i(t) = U_i(t + \tau - T)$, we easily see that

$$Z'_{i}(t) - \sum_{j \in B} J_{i-j}(Z_{j}(t) - Z_{i}(t)) + Z^{p}_{i}(t) = 0, \quad i \in B, \quad t \ge T,$$

$$Z_i(T) = U_i(\tau) < W_i(T), \quad i \in B.$$

Comparison Lemma 3.2 implies that

$$Z_i(t) \le W_i(t), \quad i \in B, \quad t \ge T.$$

Hence

$$U_i(t+\tau-T) \le (C_0+\varepsilon)t^{-\lambda} + t^{-\lambda-1}, \quad i \in B, \quad t \ge T.$$

We deduce that

$$U_i(t+\tau) \le (C_0 + \varepsilon)(t+T)^{-\lambda} + (t+T)^{-\lambda-1}, \quad i \in B, \quad t \ge 0,$$

and the proof is complete. \Box

Lemma 3.5. Let $U_h(t)$ be the solution of (1)-(2). Then, for any $\varepsilon > 0$ small enough, there exists a time $\tau \ge 1$ such that

$$U_i(t+1) \ge (C_0 + \varepsilon)(t+\tau)^{-\lambda} + (t+\tau)^{-\lambda-1}, \quad i \in B, \quad t \ge 0.$$

Proof. From Remark 3.1, we know that $U_h(t) > 0$ for $t \ge 0$. Introduce the vector $W_h(t)$ such that

$$W_i(t+1) = (C_0 - \varepsilon)t^{-\lambda} + t^{-\lambda - 1}, \quad i \in B, \quad t \ge 1.$$

As in the proof of Lemma 3.4, we find that

$$W'_{i}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W_{i}^{p}(t)$$

= $t^{-\lambda - 1}(\mu(-\varepsilon) - (\lambda + 1)t^{-1} + M(t)t^{-1})$

where M(t) is a bounded function for $t \ge 1$. Since $-\varepsilon < 0$, we discover that $\mu(-\varepsilon) < 0$. Consequently, there exists a positive time $T \ge 1$ such that

$$W'_{i}(t) - \sum_{j \in B} J_{i-j}(W_{j}(t) - W_{i}(t)) + W^{p}_{i}(t) < 0, \quad i \in B, \quad t \ge T.$$

Since $\lim_{t\to\infty} W_i(t) = 0$, $i \in B$, there exists a time $\tau \ge T$ such that

$$W_i(\tau) < U_i(1), \quad i \in B.$$

Setting $Z_i(t) = W_i(t + \tau - 1), i \in B$, it is not difficult to see that

$$Z'_{i}(t) - \sum_{j \in B} J_{i-j}(Z_{j}(t) - Z_{i}(t)) + Z_{i}^{p}(t) < 0, \quad i \in B, \quad t \ge 1,$$

$$Z_i(1) = W_i(\tau) < U_i(1), \quad i \in B.$$

It follows from Comparison Lemma 3.2 that

$$Z_i(t) < U_i(t), \quad i \in B, \quad t \ge 1,$$

which implies that

$$U_i(t) \ge (C_0 - \varepsilon)(t + \tau - 1)^{-\lambda} + (t + \tau - 1)^{-\lambda - 1}, \quad i \in B, \quad t \ge 1.$$

We deduce that

$$U_i(t+1) \ge (C_0 - \varepsilon)(t+\tau)^{-\lambda} + (t+\tau)^{-\lambda-1}, \quad i \in B, \quad t \ge 0$$

and the proof is complete. \Box

Now, we are in a position to prove the main result of this section. **Proof of Theorem 3.1.** It follows from Lemmas 3.4 and 3.5 that

$$C_0 - \varepsilon \leq \lim_{t \to \infty} \inf(\frac{U_i(t)}{t^{-\lambda}}) \leq \lim_{t \to \infty} \sup(\frac{U_i(t)}{t^{-\lambda}}) \leq C_0 + \varepsilon,$$

which gives the desired result. \Box

References

 P. Andreu, J. M. Mazón, J. D. Rossi and J. Toledo. The Neumann problem for nonlocal nonlinear diffusion equations, J. Evol. Equat., 8(1) (2008), 189-215.

- 2. P. Andreu, J. M. Mazón, J. D. Rossi and J. Toledo, A nonlocal p-Laplacian evolution with Neumann boundary conditions, *Preprint*.
- 3. V. N. Arefiev and V. A. Kondratiev. Asymptotic behavior of solutions of second boundary value problem of nonlinear equations, *Differential Equations*, **29** (1993), 1893-1846.
- 4. P. Bates and A. Chmaj. An integrodifferential model for phase transitions: stationary solutions in higher dimensions, J. Statistical Phys., 95 (1999), 1119-1139.
- P. Bates and A. Chmaj. A discrete convolution model for phase transitions, Arch. Ration. Mech. Anal., 150 (1999), 281-305.
- P. Bates, P. Fife, X. Ren and X. Wang. Travelling waves in a convolution model for phase transitions, Arch. Ration. Mech. Anal., 138 (1997), 105-136.
- P. Bates and J. Han. The Neumann boundary problem for a nonlocal Cahn-Hilliard equation, J. Math. Anal. Appl., 311(1) (2005), 289-312.
- 8. H. Brezis. Analyse fonctionnelle, théorie et application, Collection mathematiques appliquées pour la maitrise, Masson, Paris, (1983).
- T. K. Boni. On the asymptotic behavior of solutions for some semilinear parabolic and elliptic equation of second order with nonlinear boundary conditions, *Nonl. Anal. TMA*, 45 (2001), 895-908.
- T. K. Boni. On the blow-up and asymptotic behavior of solutions to a nonlinear parabolic equation of second order, Asympt. Anal., 21 (1999), 187-208.
- T. K. Boni. Sur l'explosion et le comportement asymptotique de la solution d'une équation parabolique semi-linéaire du second ordre, C. R. Acad. Sci. Paris, Sér. I, Math., 326 (1998), 317-322.
- T. K. Boni and D. Nabongo. Asymptotic behavior of solutions to nonlinear parabolic equation with nonlinear boundary conditions, *Electronic Journal of Differential Equations*, Vol. 2000(8) (2008), 1-9.
- C. Carrillo and P. Fife. Spatial effects in discrete generation population models, J. Math. Biol., 50(2) (2005), 161-188.
- E. Chasseigne, M. Chaves and J. D. Rossi. Asymptotic behaviour for nonlocal diffusion equations, J. Math. Pures Appl., 86 (2006), 271-291.
- X. Chen. Existence, uniqueness and asymptotic stability of travelling waves in nonlocal evolution equations, Adv. Differential Equations, 2 (1997), 125-160.
- C. Cortazar, M. Elgueta, J. D. Rossi and N. Wolanski. A non-local diffusion equation whose solutions develop a free boundary, Annales Henri Poincaré, 6(2), (2005), 269-281.
- C. Cortazar, M. Elgueta, J. D. Rossi and N. Wolanski, Boundary fluxes for non-local diffusion, J. Differential Equations, 234 (2007), 360-390.
- C. Cortazar, M. Elgueta, J. D. Rossi and N. Wolanski, How to approximate the heat equation with Neumann boundary conditions by nonlocal diffusion problems, *Arch. Ration. Mech. Anal.*, 187(1) (2008), 137-156.
- 19. R. Curtu and B. Ermentrout. Pattern formation in a network of excitatory and inhibitory cells with adaptation, SIAM J. Appl. Dyn. Syst., 3 (2004), 191-231.
- R. Dautray and J.L. Lions. Analyse mathématique et calcul numérique pour les sciences et techniques, Tome 2, collection commissariat de l'énergie atomique, Masson, paris, (1985).
- P. Fife. Some nonclassical trends in parabolic and parabolic-like evolution, Trends in nonlinear analysis, 153-191, Springer, Berlin, (2003).
- P. Fife and X. Wang. A convolution model for interfacial motion: the generation and propagation of internal layers in higher space dimensions, Adv. Differential Equations, 3(1) (1998), 85-110.

- 23. S. E. Folias and P. C. Bressloff. Breathers in two-dimentional neural Media, *Phys. Rev. Letters*, **95** 208107 (2005), 1-4.
- L. I. Ignat and Rossi. A nonlocal convection-diffusion equation, J. Functional Analysis, 251(2) (2007), 399-437.
- 25. L. I. Ignat and J. D. Rossi. Asymptotic behavior for nonlocal diffusion equation on a lattice, Zeitschrif fur Angewandte Mathematik und Physik, To appear.
- V. A. Kondratiev and O. A. Oleinik. On asymptotic of solutions second order elliptic equations in cylindrical domains, *Diff. Equation Appl.*, **22** (1996), 160-173.
- V. A. Kondratiev and L. Véron. Asymptotic behaviour of solutions of some nonlinear parabolic or elliptic equation, Asymptotic Analysis, 14 (1997), 117-156.
- D. J. Pinto and B. G. Ermentrout. Spatially structured activity in synaptically coupled neuronal networks. I. Traveling fronts and pulses, SIAM J. Appl. Math., 62 (2001), 206-225.
- D. J. Pinto and B. G. Ermentrout. Spatially structured activity in synaptically coupled neuronal networks. II. Lateral inhibition and standing pulses, SIAM J. Appl. Math., 62 (2001), 206-243.
- M. H. Protter and H. F. Weinberger. Maximum principles in differential equations, Prentice Hall, Englewood Cliffs, NJ, (1967).
- A. F. Pazoto and J. D. Rossi. Asymptotic behavior for a semilinear nonlocal equation, Asymptotic Analysis, 52 (2007), 143-155.
- 32. M. Perez-LLanos and J. D. Rossi. Blow-up for a non-local diffusion problem with Neumann boundary conditions and a reaction term, *Nonl. Anal. TMA*, To appear.
- L. Véron. Equations d'evolution semi-lineares du second ordre dans L¹, Rev. Roumaine Math. Pures Appl., XXXVII (1982), 95-123.
- 34. W. Walter. Differential-und Integral-Ungleichungen, Springer, Berlin, (1964).
- L Zhang. Existence, uniqueness and exponential stability of traveling wave solutions of some integral differential equations arising from neuronal networks, J. Differential Equations, 197(1) (2004), 162-196.

Diabate Nabongo Université d'Abobo-Adjamé, UFR-SFA, Département de Mathématiques et Informatiques, 16 BP 372 Abidjan 16, Côte d'Ivoire nabongo_diabate@yahoo.fr and Théodore K. Boni Institut National Polytechnique Houphouët-Boigny de Yamoussoukro, BP 1093 Yamoussoukro, (Côte d'Ivoire) theokboni@yahoo.fr.